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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 4325 3 1.2 4 74 99.1

2a 4181 0.7 0.4 1 74.7 95.8

2b 3972 0.6 0.5 1 59.5 91

3 4021 2.1 1.5 4 53.4 92.1

4a 4251 0.6 0.5 1 57 97.4

4b 4276 0.6 0.5 1 64.8 98

4c 4285 0.7 0.5 1 65.1 98.2

5 3994 0.2 0.5 2 9.8 91.5

6ai 4217 0.8 0.4 1 82.7 96.6

6aii 3836 0.6 0.5 1 55.5 87.9

6b 4209 0.6 0.5 1 56.8 96.5

7a 3442 0.6 0.5 1 62 78.9

7b 3070 0.8 0.4 1 79 70.3

8a 3842 0.6 0.5 1 60.7 88

8b 3766 0.8 1 2 40.8 86.3

9 3603 1 0.9 2 48.8 82.6

10a 2749 0.8 1 2 41.2 63

10b 3238 0.9 1 2 46.5 74.2

11 2923 0.7 0.9 3 22.6 67

12a 2649 0.4 0.5 1 40.6 60.7

12b 3472 1 0.8 2 51.5 79.6

12c 2631 0.7 1.1 3 24 60.3

13a 4007 0.7 0.5 1 71.3 91.8

13b 3920 0.4 0.5 1 35 89.8

13c 4038 0.4 0.5 1 36.5 92.5

14a 3877 1.3 1.3 3 42.9 88.8

14b 3958 0.2 0.4 1 19.8 90.7

15 3646 0.6 1.1 3 20.4 83.5

16a 3695 0.4 0.5 1 35.9 84.7

16b 3631 0.3 0.5 1 29.1 83.2

17 3396 1.3 1.1 4 32.6 77.8

18 2761 0.7 1.1 4 17.2 63.3

19 2552 0.5 0.9 3 16.7 58.5

20a 3348 0.8 1 2 38.5 76.7

20b 2906 0.3 0.7 2 16.8 66.6
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GCSE Mathematics Unit 2 Foundation 

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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3. (£)35 ÷ (£)2.8(0) 
 12 (books) 
 
                   Organisation and Communication. 
 
         
          
 
 
 
                                       Accuracy of writing. 
 


M1 
A1 


 
OC1 


 
 
 
 


 
 


W1 


 
M1 A0 for a final answer of 12.5. 
 
For OC1, candidates will be expected to: 


 present their response in a structured way 


 explain to the reader what they are doing at 
each step of their response 


 lay out their explanation and working in a way 
that is clear and logical 


 
For W1, candidates will be expected to: 


 show all their working 


 make few, if any, errors in spelling, 
punctuation and grammar 


 use correct mathematical form in their working 


 use appropriate terminology, units, etc                                  












 



Comment

This candidate has written a reversed calculation in an otherwise correct response. This causes them to lose the 'Accuracy of writing' mark.












 



Comment

This candidate has written a reversed calculation and written the wrong units for the calculation - it should be 12.5 books, not £12.50. This causes them to lose the 'Accuracy of Writing' mark.












 



Comment

This candidate has carried out the correct calculation but was unable to interpret what their calculation meant in the context of the question.
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Examiner
only


3.	 In this question, you will be assessed on the quality of your organisation, communication and 
accuracy in writing.


	 Books cost £2.80 each.
	 What is the greatest number of books that can be bought with £35?
	 You must show all your working.	 [2 + 2 OCW]
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9. (17 – 3) = 14  
  
 (14 ÷ 5) = 2.8  


B1 
 


B1 


Accept embedded (unsupported) answers e.g.  
14 + 3 = 17         2.8 × 5 = 14. 
FT their derived 14. 


Accept  
14


5
  or 2 


4


5
 or equivalent. 


To be awarded the second B mark, candidates must 
provide their exact (unrounded) answer.         
 












 



Comment

This candidate wanted to only work with whole numbers, even if it meant writing 15 + 3 = 17. This was very common.












 



Comment

This candidate carried out the first calculation correctly but was unable to continue. This was very common.












 



Comment

This candidate attempted to solve the question using a trial and improvement method. It was very rare to see a candidate using this method get the correct answer as it wasn't an integer.












9.	 A number is multiplied by 5.
	 3 is added to the answer to get 17.
	 What was the number?
	 You must show all your working.	 [2]


	


	


	


	


	












 












 












 












 


10.(b)   0.3(0) × 275       or equivalent 
  = 82.5     ISW 


M1 
A1 


 
 
Award SC1 for an unsupported answer of 82 or 83. 












 



Comment

This candidate simply multiplied by 30. This was a common response.












 



Comment

This candidate has divided by 275 and multiplied by 100, instead of dividing by 100 and multiplying by 275. This was a common response.












 



Comment

This candidate simply divided 30 by 25, showing no understanding of how to calculate the percentage of an amount.












(b)	 30% of 275	 [2]


	


	












 


11. 2, 5, 7, 7              in any order. 
 
 
 


B3 
 
 


 
 


B2 for satisfying 2 of the 3 conditions  
B1 for satisfying 1 of the 3 conditions  
Conditions to check:  
Mode 7, Range 5, Median 6 
There must be 4 numbers written otherwise B0.  












11.	 Rhys wrote down four whole numbers.


	 The mode of the four numbers is 7.
	 The median of the four numbers is 6.
	 The range of the four numbers is 5.
	
	 What are the four numbers that Rhys wrote down?
	 You must show all your working.	 [3]


	


	


	


	


	


	


	


	


	


	


	


	


Rhys’s numbers are ….. . . . . . . . . . . . . . .…. . . ,   ….. . . . . . . . . . . . . . .…. . . ,   ….. . . . . . . . . . . . . . .…. . .   and   ….. . . . . . . . . . . . . . .…. . .












 








 



Comment

This candidate engaged with the mode and range aspects of this question, but was unable to identify the final number which would give the median required.








 








 



Comment

This candidate showed no understanding of median, mode and range, simply writing down the numbers contained in the question. They added these numbers together to get the final number.








 








 



Comment

This candidate wrote values which gave the required range, however they did not get the required mode, even though they demonstrated understanding of the mode on the first answer line.







